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I I I Semester B.Com. Exam i nati on, March/A pril 2022

(CBCS) (Semester Scheme)
(2021 -2022 and Onwards) (Fresh)

COMMERCE
Paper - 3.4 : Financial Management

QP - 267

Time : 3 Hours Max.

lnstruction : Answers should be written completely either in English or
in Kannada.

SECTION _ A

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

a) Mention any two steps in financial planning;

b) What is financial leverage ?

c) Give the meaning of dividend policy.

d) State the concepts of working capital.

e) Name the two models used for valuing equity shares.

f) Given : Original cost of investment Rs. 50,000, Annual cash inflow after tax
Rs. 6,000, Annual depreciation Rs. 4,000" Calculate pay back period.

g) Find out the future value of Rs. 16,000 received after 3 years at a 10/"
preference rate.

SECTION _ B

Answer any three guestions. Each questiori carries 5 marks.

2. Explain briefly the functions of financial management.

3. Calculate the future value at the end of 5 years of the following series of
payment al9/" rate of interest.
At the end of the each year Amciunt Deposited

2,000
4,000
6,000
8,000

10,000

1

2

3
4
5

(3x5=15)

P.T.O.
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4. The following information is available in respect of a product :
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Units sold
Unit sale price
Fixed cost

Rs.2,00,000
Rs. 5
Rs. 2,50,000

Variable cost per unit Rs. 1.50
Tax,rate 50%
10% debt capital of Rs. 6,00,000
Calculate all the three Vpes of leverages.

5. A company is considering an investment proposal to install a new machine.
The machine wil! cost Rs. 50,000 and will have a life of 5 years and no salvage
value. The company's tax rate is 50%. The company uses straight line basis of
depreciation. The estimated net income before depreciation and tax from the
proposed investment proposal is as follows :

Year: 1 2 3 4 s
EBDT : 10,000 1 1 ,000 14,000 15,000 25,OOO

Calculate Pay back period.

6. Briefly explain the various types of dividend.

SECTION _ C
i.

Answer any three questions. Each question carries 12 marks. (3x12=36)

7. Explain the role or functions of a financial manager.

8. A Company Ltd., has a share capital of Rs. 1,00,000 divided into equity shares
of Rs. 10 each. lt has major expansion programme requiring an investment of
another Rs.50,'000. The management ig considering the following alternatives
for raising this*3mount. l

i) lssue of 5000 equity shares of Rs. 10 each.
ii) lssue of 5000, 12/" preference shares of Rs. 10 each.
iii) lssue ol 10% debentures of Rs. 50,000.
Company's present Earnings Before lnterest and Tax (EBIT) is Rs. 30,OOO p.A.
You are required to calculate the effebt of each of the above modes of financing
on the EPS :

a) lf EBIT continues to be the same even after expansion.
b) !f EBIT increase by Rs. 10,000.
c) Assume tax liability is 50%.
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9. A firm whose cost of capital is 10% is considering two projects A and B. The
details of which are :

Particulars Proiect A Proiect B

Rs. Rs.

lnvestment 1,00,000 1,00,000

Cash inflow :

1't year 20,000 45,000

2"d year 30,000 40,000

3'd year 40,000 30,000

4th year 50,000 12,000

5th year 60,000 18,000

Compute the Net Present Value (NPV) and profitability index at 10"/".

Year : 1 2 3 4 ..5
PV Factor 1oo/o: 0.909 0.826 0.751 0.683 0.621

10. A company is considering to purchase a machine. Two machines are available
automatic and manual costing Rs. 1,00,000. Earnings after depreciation and
taxation are expected to be as follows :

Estimated cash flows :

Year Automatic Machine Manual Machine
(Rs.) (Rs.)

1 30,000 20,000

2 4o,0oo 20,000

3 50,000 40,000

4 2O,OOO i 60,000

5 €0,000 4o,ooo

Evaluate the two alternatives according to

i) Average Rate of Return Method (ARR).

ii) Net Present Value Method (Cost of capital 10/")
Assume straight line method of depreciation.

The discount factor is as follows :

Year:12345
DF at 1Oo/": 0.909 0.826 0.751 0.683 0.621

11. What is working capital ? Discuss the importance of adequate working capital.
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SECTION - D

Answer the following question which carries nine marks.

12. lllustrate the EBlr/Eps analysis of a company with an
also calculate all the B leverages.

OR
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(1x9=9

imaginary figures and

eda u{Q

S?iad - o

1 . * E$nd cndoaddo oeb erud-${rleri erodol. $e wd-$dorl add: coErtq;b. (5x2=10)
a) dmuafo coerdo$e)-d cDdde add.: dcdrrgd: en:eJe$1.
b) drauaid dE .rodded: ? 

ct "
c) enqnod &eBoJ: u$rddl &ea.
d) uaoJcr&dd uodayo$d iOdCIdrlgdr esl.
e) dit-t^: ded:rlgibo dFOredoBJ" 

"*oiorbd 
Cradoadd; add; CrDdorfddl dio,tu.

0 &ede:DRd I aioBdo$ d:la s ddd^. 50,000, dorio$ dodd a.c&rd drleb z.Sdog
drD. 6,000, aa&rd iddg d"o. ?,000, bomdg edQoJ:d.1doc:bao3:o.

g) dedd 10 d edrd-d_ddo- 3 ddrrls dodd,xsdorudrocd dn. 16,000 ds qja4d
dPc.rrddl *oa:aaor:rj. cr

A4'Dd - ?,)

€r Ednd C>doaddo dhJo$ dd_rfeX erudo&. Be dd_n 5 scAdsb.
,t.,

2. deaai: &drd#o$ aoo$rrisdl iotdaaR Odotu.

3. & dgnd sdcd eatSrleod dedd 9 d ua^ ddde_ 5 ddrrls drDdo$o_ dJod&d
qJa$d dPerrddl dod:baobo. @ -

With an imaginary figures, prepare an estimate of working capital requirements
of a manufacturing company

(3x5=15)

{,eddrd dJadobO

1

2

3

4

5

dede6 drag (d/a.)

2,000
4,000

6,000

9,000
10,000
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4. e.od: erod6,d dDbeoJD dddodo.gd :

dorl dd
dedd 10d xne.: uoda;o$

+t;drl$ dnoot^l dJo.2,00,000

z"od: c1rlo&[,trd dncnt"l aiej dla. 5

.PJd dzJrJ
ww

dro.2,50,000

uderorbd dz3 d,g o$Jo&[,trri dro. 1.50,1 J
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(3x12=36)

50/"
dJo. 6,00,000

aeq ilo& urio$ n{dqrdA (Leverages) dodtbaobo.

5. dod0C> do! C;ogdq EDo&ie) draatol> $sa.ddo3:Q dodsd-bgd. oJoo$d
deJ dra. 5o,0oo ai4 &rabtO 5 ddrrrfu Brdl o:id** xod*raa t5o,
doood:dOe.:_. Eod&o$ dori dd : 50% d:$ dod&oJr: ded Bdde aAadddl
z^.r$i:€d. duaad {,qddoood idde drQ dorio$ dodsr eroo"dtud e*S
uoaoJ:d dr d$ndo8&dd :

i=ie .

dorl E$dl
idd9hod
dodOd enC : 10,000 1 1 ,000 14,000 15,000 25,000
(EBDT)

d;eed dDbgobQd "Eooa?d8 udQ" o$dr4 dod;bBou:o.

6. ead o€go$ enzpodddl noE{aaR Ddotu.

a6Drl - A

dr dsnd dndoaddra dlJo& €,d{rl9rl erudotr. d,.9 d,d4rl 12 erodrlsb.

7. deaarir drdm;ddd aa$ uSao roo$ri19&4 edotu.

8. A eoJ>tug Eo&o$:EdDq d*dr sJoffiS do.10&)aDa&bdD do.1,00,000rhnnd$.

doSC> dqo4d# o3oeasdnDn dro. 50,000r19d:odz^[nel qqiDgd. d, d,agdqd{F*
esded d>odgolp dr E$nd dCnroS:,1$dr4 dortrdfD.gd

a) den 10 doaaor:d$ 5000 xad>d, dedld$ addd.

b) deEd 12d den 10 dods 5000 agd{s ded:i1$ add#.

c) dedd 10d xae.:dgd addd drD. 50,000.
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dodoo$ €,&d uaao${ uao a$e doriob dodqr (EBlr) arJ&rd dro. 3o,0oo
erncbdd.

* d$nd iodglrrl$O-, 6g deod il9do$ d>ee3 abeOd {,edood: dearolo epada
domaabddl dodreGd:o :

i) And#ol> dodd{p EBIT z.ode oe8 dr:ocbdddd.
ii) EBITdO_ dra. 1 0,000 dzo,.dd.

iii) dorl ziduEzroo deEd 50 aocb erua&&.

9. t oc3c nod ddadd> CoeagdA drQ B dedd 10 d uodang dz,J.ao3 dorlsdxb.Bd.
agJ

er$rlS Dddd 6r Oeg .ad :

Adddqb olneesd A o3nerd B
(dJo.) (dJo.)

uodaa$ droad 1 ,OO,O0O 1,00,000

drid: r,SdOg

l ddr 20,000 45,OOO

2 ddr 30,000 4O,OO0

3 tdr 40,000 3O,OOO

4 ddr ' 5O,OOO 12,000

5 ddr 60,000 19,000

addo o3oeesdrlg (a) e*9 d,{d dfoe.r, (NPV) (b) mqroodd nozsorodddl
dedd 10 d ootEob8 eoEdO_$dredaroA dod;bcobo.
)_)_-EF:1234S
oojDo9:g erod 10% : 0.909 0.g26 i 0.751 0.6g3 0.621

,tt

10. z.od> dod&o3]) t odc o3:o$ddlaDoeoio dorlsd$ed. cf:o$ sCoabeo^3u ub4
dr.r$olref 6e o1)o$d dej dro. 1,O0,OOO. idde abdJ dorio$ dodd dodOol:
ded dr dsdodod &oeEienfld :

*o-1, odcg drtu$ Eod)
ddrrlqb ertiJoubet3rf oJro$ dla$$o$e,r oJ:09

(dJa.) (dJo.)
1 90,000 2o,ooo
2 40,000 20,000
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3
4
5
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50,000
20,000
30,000

40,000
60,000
40,000

i) noado uS8o.)d ddd a6ad (ARR).

ii) e*9 €,4d dPo, (Npv) dedd 10 oolDob.so$ eod ild) ded dddp AQ-rddo_
enobRr.

oo$Dourg eodrt$ :

eJe{t

oojDo$.9 epod @ 10o/o : o.gog 0.g26 o.zs1 0.6g3 0.621

11. re oj.:rpdd uodaad aoddedc ? ia'cirdand raoj.:r0dd uodaacd
a3 d::$, dol, d1 ziz8 r:r.

Aqlarl - @

& d$nd ddoo$q erudo&. €r €,d*ri 9 eodrlq;b. (1x9=9)

12. roe.:,&d eo8-ercdrlsoood dod&o$ EBlr/Eps edJddo$dtr adox, dre oe4
d:rad: oegoJ: Odd#d$d1 dod:baobo.

egCaJD

uae;.,&d eeo8-qrodridooari Eod&o$ uaobr&dd uodaagd erld.do$ q,o6?ao dcdDo$.
?)

:
dt


